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m|_ 4] 530[EE s ZAAC 4 17.72 m[ 4] 529N EBE FAAC 4 18.14
4 5| 315[FS HKE maLLIH 4 18.33 | 4.6]_5| 163[ILX =2E |[HEAC 4 18.15
m|_6] 213[#+ _h= =M 4 18.54 m|_6] 314kH =& maLlI 4 19.82
7| 1218k 8% Ech v T 4 19.25 7 21200 Bx =% 4 20.61
8| 406[/\&F BElE [ TARFELLD Z 20.10 8| 462[ElF I WHS1-7 Z 20.91
3| 1] 251|Em & =IAC Z 17.14 4| 1| 527[%ErE <54 SRAAC Z 16.24
2| 405| XA _BiE FRRPZE 2B 4 17.26 2| 576|ARE 2 RINT7YTIL 4 16.34
3 162[0H =33 |[HERAC 4 17.98 3[ 210/ E= R 4 16.42
m|_4] 528|5%F &R RAAC 4 18.23 &[4[ 160[piH A= BEEAC 4 16.72
3.9 5] 461 AT BR WHS1=7 4 18.51 | 0.7[_5| 460|=H 00h __|[RHI1=7 4 16.86
m|_6| 5778 = Iy TIL 4 19.23 m|_6[_100[J11%} P2 JZAEAC 4 18.13
7| 110[HIH #)% Eqﬂxde\yj 4 19.87 7| 404 =4S #0iA FHRPZE 2B 4 19.79
| 8 2110E %t _%g 2 21.00 8 313011 =41 H Z 19.94
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2| 2427E%F 5 SvIESHE—K 4 17.41 2| 3978 T= ANGEL ABILITY AC 4 16.51
3] 575k flAmE [SINT7yTIL 4 17.65 3| 241 ILA F0iE Sy e 95—k 4 16.76
m[_4] 75|24 Hil BRE)S A~ 4 18.32 m[ 4] 574|A SLB i)ﬂym 4 17.33
1.2[ 5[ 403|=k &R FRRbZE E 2B 4 19.19 | 3.1 5[ 209[dtH && = 4 18.32
m|_6] 508|FF HxZ |[WHER 4 19.90 m|_6] 507[&KF % AR 4 18.90
7] 312[HH & maLLIFH 4 20.49 7] 64l=h 1B& USPEKSC 4 19.40
8| 154 H bEAl EHE TR A 21.04 8| 311 H Z 19.78
71| 240[AARE = Sy oI5 R 4 16.16 8| 1] 207[IR3 =5 = HR Z 17.12
2| 208[fRA #& =M 4 16.73 2| 239|%@E =0 Sy G5k 4 17.15
3| 389[BN i EXT1=7 4 [=0[17.83 3| 427K 3% AiEAC 4 17.94
m[_4] 457[BEE mE WHS1=7 4 [=0[17.83 M4 388[EH waE [EAI1_) 4 18.44
3.7_5] 310[50H B¥ ALl 4 18.40 | 1.1 5| 152[HH B\= EHE_NIFR 4 18.53
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7] 506 [dbH ot MHAS 4 19.27 7| 505[FH MHER 4 20.44
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2| 562 "ij E% SEBREE 4 17.57 2| 552|B)I[ 5 EEHS] 4 17.22
3| 426[pkH #EE AEAC 4 17.82 3| 504FH & mu WHAR 4 17.28
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3.7 5| 227[%%#4F & EMO—RE2T 4 18.61 | 0.1 5[ 191[FHE ﬁ% 10015>&5> 4 18.35
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m|[_6| 475|5HE & ZFFKSRC 4 19.42 m|_6[ 3175 % maLLIH 4 19.56
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2| 280(hH I SvIES )5 -k 3 16.33 2| 289(EA EHhE SvIEL )T -k 2 17.19
3| 353[1E)Y 124 KESC 2 16.49 3| 4178 & RRSHIAC 2 17.83
@ 4] 346|886 F& FNE (R 3 16.59 [l 4] 418[wEFF @E CHIAC 2 17.89
2| 5| 546%& 3E WH>1Z7 3 16.62 2.1 5[ 290[#EH & SvIEL )Tk 2 17.90
m|_ 6| 279 SvIES )5 -k 3 16.69 m| 6 68| L8 X JRCH(IH 3 17.90
7| 568 ZEFKSRC 3 16.74 7 678K 158 JRCH(FH 3 18.33
8| 287 Sy b 05 —-h 2 17.26 8| 565|)I1k B4 ZHFKSRC 3 18.51
3 1f 118 =H23yT 3 17.24 4 1| 116[fE4 KR EX |ERRFyT 3 17.52
2| 288 SvIESHS—K 2 17.57 2| 107[RHE &) JXAEAC 3 18.60
3| 545 REJ1=7 3 17.99 3] 304z ==} SHIAC 2 18.64
@ 4] 352[ AESC 3 18.20 m{ 4| 572[1IE @K ZEFKSRC 2 18.66
2.6 5| 105 JRAEAC 3 18.25 39 5 6|HE fHA H4ZX R C 2 18.74
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7] 73 pRRE) S A= 3 18.69 7] 642K TGS EEISJ 3 18.81
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3| 442 EAXT1Z7 3 18.74 3| 339|HH i HRJ 3 19.02
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4.1 5[ 338 HRJ 3 19.08 3.4 5] 119|31H B— ELESvi 2 19.13
m|_ 6| 337(= HRJ 3 19.09 m| 6| 416|/H [FEE RCNIAC 3 19.13
7] 303 =HIAC 3 19.26 7| 548| X F KiE WHEI1-7 2 19.56
8| 305|EfR IEEK Siie 2 19.42 8| 620|=% EX ZARAC 2 19.66
7| 1| 168|RlfF =iE F=AIAM=Y 2 18.47 8| 1| 487[Fk & FLBEEVST 3 19.17
2| 643[BIE E1E EEH57 2 18.79 2| 477/t EEST FA)—hryk 3 19.25
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7] 549|HiH =& RES1Z7 2 19.73 7| 341[KE 1AfE HRJ 1 19.98
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o 1] 111]mH BT JXEAC 2 19.08 10[ 1] 283[X&% == SvoE 95—k 3 21.02
2] 2843kl F0E SvoES ISk 2 19.82 2| 478|F& EE FA)—hryk 2 21.32
3| 117[=4 & EH0 Eh2tvT 3 20.44 3] 340[¥ B HRJ 2 21.39
M| 4] 69 MR JRCHIFS 1 21.02 = 4] 106\t B JXEAC 3 21.82
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3| 553[F @4k ET5) 3 18.20 3] 103|8 EBE JAEAC 3 18.94
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m[_6] 393[ATF EEZE [EAS1-7 3 18.44 m|_6| _106|& =& JZEAC 2 19.68
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0.9 5 38|gIH T FRAESRC 3 19.94 0.3] 5| 468|AH Uh WHI1=7 2 20.05
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109|k#E 1% JREAC-3B 3i2 284 (K1 #E SvoE s —hC 25 2
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